X 17"7'0I0 R,XA YR L7"02

If the ruling of neY 21 was taught — 9218 RE¥OK nB 297 NN ON
It was taught concerning the X0

OVERVIEW

The »nR7 82X explain that the reason the 71wn states 12 W7pn WX is to teach
us that the man himself should be w7p»n the WX so he can see who she is.
Otherwise he is transgressing the ruling of T¥ OWXT NR WIPW DTR? TIOXR
7IR7W. We therefore can no longer explain that the 71wn is teaching us 71¥7
M5Wwan 20 12 (even when there is no transgression by 1MW), since here
there is an MOX if the PYITP 1s not 12. However it seems that 701 29
explained that our 71wn states 12 because 12112 mxn. The X773 answered that
indeed the reason the 7I1w»n concludes in the X9°0 that 72 DWIPNH WK 1S
because 7mbwan Ny 72 M¥n (and here there is no Mo X). MdOIN asks and
explains why we cannot apply the statement of 791° 27 to the Xw™.
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And it is therefore® that the X3 does not establish the statement of A0 27

in the X2 and in a case where he knew her and saw her previously -
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Because how can we know this that the 71wn is discussing a case of 77°n;
perhaps our mw» is discussing both cases whether he recognizes her or

whether he does not recognize her’ and in which case -
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! The »»X7 X2°X maintain that since there is an MO*X to be wIpn a woman 9w °"v, therefore how can 701 21
explain that the reason the 71wn states 12 is because YM>Wan N 12 M¥n when the reason it states 12 is
because otherwise there is an M0°X. However seemingly 701 27 can respond that the 7wn is discussing a
case of 771°91 where there is no 10X, and the 12 teaches that ym>wan anw 12 mxn. It is more likely that the
mawn is discussing a case of 7721 as opposed to 77°0n 1°K; for by 77°0n it is understood how the 71wn states
1MW (12) WP WK even 12°1NY (since there is no Mo°X); however if the mwn is discussing a case of R
779n how can the mwn state YMHWa wWIpn WX even 72°n32 when there is an MO°X! See footnote # 5. [It is
possible that (according to the Xnp Riw°?) 101 21 is not deriving the rule of 12112 M1 from our 7awn (for he
derived it from X990 27 and X27), rather 701" 27 is explaining that the 771wn added 12 because (in a case of
77°0n) it is 121 12 mxn. See footnote # 7 concerning the 7"X.]

? He knew the 7wx from before, therefore the Mo°X of 121 2TX> MoK is not applicable to him.

? mooIn explains this ‘therefore’ in the following paragraphs.

* There is no reason to limit the scope of the 73wn to any particular situation (such as 77°21); rather the m1wn
is assumed to be discussing all situations (whether 77751 or 77777 1°K).

> We can perhaps say that by 77°1 X the 7w17p is (only) 12 (for there is the 10X of 1"X > that 27X? MK
91 WX wIp°w, and by 7779 the WP can be ym?wa. See footnote # 1. See ‘Thinking it over’.
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There will even be a prohibition of being w7pn through a 5w, and we will
not know® the teaching of ne1 27 that ym>wan 20 12 men.

SUMMARY
We cannot derive the rule of 701 27 from the X7, since the Xw*7 may be
discussing all cases including 7727 and 77272 K.

THINKING IT OVER

mooIn explains the reason A0 17 cannot reference the X7 is because
perhaps the X1 is discussing both 77721 and 77727 PX. Seemingly in order
to explain why A0 17 cannot reference the Xw» it would have been
sufficient for MdOIN to say that perhaps the Xw™ is discussing 77701 X
(without mentioning 779n)!®

® We would argue that the m1wn writes 12 for a case where 77" WX, therefore it is necessary (if possible)
that he should be w7pn her (without a 1°%w), but if he is 7751 then even 772°1n3% he may be wpn her with a
m°5W; not as A0 21 rules.

71t is possible that the X7 XX maintain that 707 27 derived his ruling from our awn. Therefore 701 27
must be referring to the X2°0; for we cannot derive this rule from the Xw™.

¥ See TR X"wnn (and footnotes # 1 & 5).
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